Banaras Hindu University

Notations :
1.Options shown in green color and with ¥ icon are correct.
2.0ptions shown in red color and with #* icon are incorrect.

Question Paper Name : 896 905 11th April 2021 Shift 2
Subject Name : 896 905
Creation Date : 2021-04-11 19:03:34
Duration : 120
Total Marks : 300
Display Marks: Yes
Share Answer Key With Delivery Engine : Yes
Actual Answer Key : Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? No
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

CRET _Statistics

Group Number : 1

Group Id : 509398164
Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 300

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Research_Methodology

Section Id : 509398266
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 120
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 509398293
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50939818623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Generalised conclusion on the basis of a sample is technically known as :
U A9H % AT U AHEES Hehd T ' H AE] S B

Options :

Statistical inference
1 v 'J:I";I‘_;J].};'JT P:‘.. 5= 512

Descriptive statistic

TUTATEE ATHS
2. % '

Data analysis and interpretation
5 % OC1 [ESEET S TR

All of the three
% TS
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Question Label : Multiple Choice Question

The protocol of asking pre-meditated questions in instruments of data collection is :
OOF T0E & I0HOT O E-OeReal UsH IS H OEE 2o

Options :

Structured

= Ok

1.¢

Unstructured

5w S

Free-rein

3 % i

Systematic
.

FrafeEr
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
FHEV] AT TR-AJTEA AR FERY

Options :
High in replicability but low in internal validity
v MiaEid O 3= @ik Ak guar T %

High in internal validity but low in reliability

ZQVWW%WEWWHJWWETH

High in ecological validity but low in external validity

_ Bl e e e s = M = e i e e i s L ==

None of the three

| o T E T A
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Question Label : Multiple Choice Question

Testing hypothesisisa..........
Tiehe=T T § o

Options :

Inferential statistics

Descriptive statistics

0 % TUHATHE  HTRZAHT

Data preparation
3 % FEEH W AN

Data analysis
4 % TOF P TGO
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Question Label : Multiple Choice Question

Inductive logic proceeds from:
AN F 96 FTTEL 561 & ¢

Options :
General to General

,wWﬁW

Particular to General
5 o (@S9 F HE

General to Particular
3 % AEE H Aa

Particular to Particular
4 % ST I TS
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents is known as :
TECGIAIEAT FI THIA U] U AT WA= e a%AE B S Al
Options :

mp

Convenience Sampling

L% EEEIInERE]

Snowball Sampling
2. \/ m [A :r ! H Tq‘]q

Cluster Sampling
5 x AYE O

Stratified Sampling
4 % TAg Ul=A4
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research ?

A T T A< & udaE # faeereer e e A ergEe el

Note: For this question, discrepancy is found in question/answer. Full Marks is
being awarded to all candidates.

Options :
Descriptive Research

| TUETDE ST

Fundamental Research
) Oifeh &7

Pure Research

SFE ST

Casual Research

4 EARR Il |
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Question Label : Multiple Choice Question

Likert scaling is based on :

forhe T e o

Options :

Item-wise scale
| v Te-FH IO T

Summative scale

Reflective scale

3:“ Tdad 94+ 97T

Formative scale

4 % TTIEE TN T
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Question Label : Multiple Choice Question



A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : i
AT fefatas wEw o7 = e S o

(a) The means of obtaining information
TFAT AT e AT

(b) The availability and skills of the researcher

STIeTRAT 1 SUeTeae AT FHiem

(c) The nature of the problem to be studied
AL ® AM I WS T O

(d)

The availability of time and money for the research work
g1 ®/E & fam |mE AT a9 @ Iuee
Options :

(@), (b) and (d)
| % (a), (by =17 (d)

(a), (hyand (c)
Q (a), (b) FTT (c)

(a), (b), (chrand (d)

3 (a), (b), (c) HTT (d)

(b}, (c) atld {dy
(b), (c) HATT (d)
4. %
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Question Label : Multiple Choice Question
SHODHGANGOTRLs:
SHODHGANGOTRI £ :

Options :

Database of articles

Database of thesis & dissertation

5 % 112 £x gCe pallhel 1 5 e o s 5 M A o 2

Database of research synopsis
3 v r;'.v = ]rT‘l:iﬁj T4 R B2 ::P:[

Database of experts

4 % TISEE HSEEAA
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nof true 7
AMGI=0® RS T&d & a7 O Herarad O F 391 79 J8f = ¢

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :



In this methods, each unit has equal chance to be selected.

ISHW T U= 3EE F 99T £ T "0 STEET 6 2 |

Each sample has equal chance of selection. )
U OResl § =9 W FREET 99 Sl 2

It is free from personal prejudices and bias
A= HRHT QEEEenEAT AR UsgE # Ifed =@ £ |

This method is very simple to use
TE = TAN B T AT A 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
IS stex T’ (sTra) @ =g =
Options :

Latin

French

German
5 O

Italian
IC ’1 Bl
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

A0 H HI-AT IR AET T FE A9 TL @A B Al SeT a6
TES EH W O CHWOEl & ASET 1 OI0AR Bl = 7

Options :

Idiographic Approach

STEAMNSS (TEUTE) S HIvl

Nomothetic Approach
SHEfeE (FrErTes,) SR

2.9

Empirical Approach
3 % AT FEERITT

Pragmatic Approach
TR g
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain

order :
ATHEE U & Hed H, efoiEd e =wer o MieEg e o
Tam o o

(A) Conceptualising the research design
ST SATTH FN ST |

(B

Formulating a research problem
ST O @/l I3 |

(C) Selecting a sample
miaesl @ = |

(D

Constructing an instrument for data collection
O HOE F 0 AHE A H AT

Which of the following options represents the correct order ? i

1o o e e = = = 1 O | M =7 = = = e 7 B ) e 1 e = o |
Options :

|« B.ADC

, % BDAC

; % B.CAD

4 % B.CD.A
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Question Label : Multiple Choice Question

Impact factor of a journal is defined as :

1 w=e & o9 W (Impact factor) T 59 ORI OGS TRAT TET 2 G

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.

Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received

7% ThE KU oS a ¥ fUmd ans gEE O uwieE @ #Oanes

1.

It is the yearly average number of citations that articles published in the last four

years in a given journal received

q= QAT g O fomer =T oAt O Owiem orEl # dnds A
o IRETIT T B

It is the yearly average number of citations that articles published in the last two

years in a given journal received

7% T U o SEw O fTee < 99 O owne ol B angs H e
5 ST A B

It is the yearly average number of citations that articles published in the last five

years in a given journal received

AT G S WEER O fUeel O gul O USmnee oAl ® g ATES
4, SEET FEAT
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Question Label : Multiple Choice Question



The three basic principles of experimental design are :

IR ® AT & o4 Oodd e =
Options :

Replication, randomization and Substitution
TR ST, YweUIE e U HFggsT

1. ®

Replication, randomization, and local control

- TEIRS, e OESTe UF Wb e

Substitution, replication and local control
TELCHeE, TR 0F TAha B

3. %

Substitution, randomization and local control
AT, Treai359= Ug Tk Frold

4%
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
< H Afaw STEE F wer § e @ geauer T S

np

Options :

Simple t-test
| w SrETTT F-TET

Chi square test

Zﬁmmﬂm TT T

F-test

_TE

Paired sample t-test

. g v -t
4. % 3
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Question Label : Multiple Choice Question

Which of the following is not a method of research ?
M=aT O O STy W UE T9iT F87 = 7
Options :

Survey

AT

Historical

Observation

- A

Philosophical

4% EEIEEI
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?

e O & B AT T & AET § 7
Options :

Pie chart

Bar char‘g
SUE TG

Histogram

5 o T

Box plot

4 s T T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

FE-HEE ALHIH H OB SR & AT U¥ g A S e

E 7

Options :
Applications of the findings of the research study.
| % S STET F TR F S EEE B AT U7

Objectives of the research study.
5 o 9T FEEE F IEE T AN UL |

Mode of enquiry used in conducting the study.
3 % ATH F FEEE T ITEN F A 9Rl = F GEE F A 07

Outcome of the research.
4 % ST TR FOATER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards

people in wheelchairs. He/She can study their reactions by sitting in a wheelchair

himself/herself. Such method of collecting data is known as :

e G Bl o i e ol S e T 1 B e e e U e o = e

A= BT AEAT B O9E EW O FEeEET O SS9 3%l OShEAarEd

9

e

Options :
Disguised Observation

1 . ’-53:‘1 ) ] FJ'_‘|

Participant Observation

) PIGE IR R S B



Non- P.nnmp'mt Obser\ ation
3 % IR | )l e )

Self Recording Observation
, w T T S
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Question Label : Multiple Choice Question

Whn,h of the following is are citation/reference style(s) ?
s O T T TEIOT/AE At "TEITLHT' )—/7'—' [4

(A) American Physical Association
YT e AT

(B) Modern Linguistic Association
ore faited TATAs

(C) Oxford Stand'{rd for the Citation of Language Association
AFAFRE TUSE T T HAECsH AF oA TETEans

(D) Vancouver
Choose the correct answer from the codes given below :
g O & ®F-A1 F9E 3 £
Options :
(a), (b}, (c)and (d)
1% @, () () AT (d)

(a), (hyand (c)
5 % (@).(b) AT ()

(a)and (d)
5 % (@A)

(d) only
4 Faa (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
Options :
Determine whether there is any statistically significant difference between the means
of single independent group before and after intervention i
T Fuiva ®ear & % o ow e AgE O 5mET % UEd A7 AR
| % T TIFT (mean) F FTE HIE AMALT TETTIO AT g

Determine whether there are any statistically significant differences between the

medians of two or more independent groups

TE fFuited wear % 0 & o e wmee ToEt § omerEt & Am
5 % THIE HETHA TEEIU AT E

Determine whether there are any statistically significant differences between the
means of two or more independent/unrelated groups
7= fRaia a1 & 7 921 @ @ afas w=mae o aTEeT "OE B oW

3 o (mean) T = FE FAGT TEETO HT F AT S5



Determine whether there are any statistically significant differences between the

squared means of two or more inde pendent group

faffed ®var & % @9 &1 =1 eIfaw Td= FgEr % a9 O (squared
4, % mean) & A" ®E A 1—_7'??-1";‘3'-[ AT E AT FE
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Professor R. A. Fisher ?

U fewEa & Fetanog Bemrar O F SiA-he o Geea OreeT
Ao Uo R & FEM I 2 7

(a) Principle of Revision
I W R

(b) Principle of Replication

O
(c) Principle of Randomization
I VR M AN EE P

(d)

Principle of Local Control
A HEA Fw

Choose the correct answer from the codes given below :
S e o #e T F gE 3w g o

Options :

(a), (b) mld (c)
{a), (b) 3T (c)

(a), (h) and (d)

5w (@ (b) FTT (d)

by ic) ft[}d idy
3 (by (c) AT (d)

(a), (c) .’illd (dy
4 = (@, (e AT (d)
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Question Label : Multiple Choice Question
Read the statements A and B and choose the correct option :
T A HW B U AN #E famer ==

Statement A : Exploratory research studies are also termed as formulative research studies.
FUA A AEUUTEDE AT ATAA B OREE 9T AW 9 HE 56 2

Statement B : Exploratory research study is undertaken with the objective either to explore
an area where little is known or to investigate the possibilities of undertaking a particular
research study.

FAT B : AUVICHE d ATAST W 3w R UH HuF O s w5
ATAT T H AAEATET BT T AT T 2

Options :

Both the statements are true.
1.« Sl FEF T E

Both the statements are false.
o % S FHET AT 2



Statement A is true but B is false.
3 % FTOT A TS E WA BRI

np

Statement B is true but A is false.
4 % FIT BEH T AR A T

e
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software ?

frEs § F BE-0 SAEEET TE-wihaiied JieaET £ o

(a) Urkund
ITES ,J

(by Owerleat
HATTTE

(c) Turnitin
=Fife

(d) Viper

Choose the correct answer from the codes given below :
I Rw T FE O H AR S ge
Options :

(@), (byand (c)

| % (a), (b) 3T (c)

(a), (b) atld {dy

5 s (@ (b) ST ()

(@), (c) mld (d)

3 {a), (c) 3T (d)

(a) and (c)
4w @ HAT(C)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-siEled depends on :

T TR T OTRGIHl & A7 & 949 £

Options :

alternative hypothesis

null and alternate both
ST AT IHTH ari

null hypothesis

s w ST i1

either by null or by alternate
4 % TG ST A AHCTH
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Question Label : Multiple Choice Question
Which measure of dispersion do not depends on all observations ?
Telrd BT AT O T AThAl I MUY A= w77
Options :

Root mean & square deviation

]ﬁag—rrmwaﬁ?mﬁﬁwm

Mean deviation
5 w T TEEEE

Quartile deviation
3 ESEEAEERE]

Standard deviation

4'$3L—|=r.51'aaa=r
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Question Label : Multiple Choice Question
If ris the simple correlation coefficient, the quantity /# is termed as :
AT » T3 FEAEE qUNF F, @ E S H FH FH =0 T FHE AR S
Options :
Coe}'ﬁcient of alienation
| % TEHEAERIOT EH IOIE

Coefficient of variation
5 % e =1 o

Coetticient of determination

5 @ IF FEET F IE

Coefficient of non-determination
4 % TTO-TEIOT T 9ME
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Question Label : Multiple Choice Question

A Scattergram is extremely effective :

UF FHoEg HJold I9El ¥ oo

Options :
to show visually how two variables are covering

1 \/i-:lgr:[ Tﬁ“f:l:‘_ :E ff_'r"f ]F—«FJ é\T =7 }T“:‘r Ehd %

in organising the scattered footnotes of the research.
5w MY W T Uil W Faie wme o

in organising the scattered bibliography of the research.
3 % TS ol T B3 09 =1 & A T T

in organising the scattered results drawn afier the rigorous literature review.
y T AET FOE F AE HE T e afeendt $ sEess wE O

4
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations ? ) )

R O & &N & uwd BT g uiifoal O qor=iga F8F e AT
qEE 7

Options :
Casual Comparative Research

% FIUTHE oS STrer
1 5

Historical Research

. TR ST
2.

Descriptive Research
3 TS e

Experimental Research

L% OTET T ST
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Question Label : Multiple Choice Question

Which one is called non-probability sampling 7
=fatas © §F ®E T-UTEa afa=Es wmEr S = 7

Options :

Quota sampling

1. %
Cluster sampling
= OiEEEE
2. % ° J

Systematic sampling
. AT /2T Oie=r

Stratified random sampling
T AR E A==

4. %
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Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
T TANTOE o= O 9T =97 ar =an £ e A
Options :
The one that is not manipulated and in which any changes are observed
FE UAEH /ET0E A8 # Al 37 fAaE B 9T Uiegad # TiET

The one that is manipulated in order to observe any eftfects on the other

2133?1T'-'[I

A measure of the extent to which personal values affect research
fF O ST g ST S J9iad ®ed = 39d OO b F9 O

33311—% TR A= 2



An ambiguous concept whose meaning depends on how it is defined
U G TN g1 AT Johd TAFT F TH UL WY BT §

431’—5.“@%%'17‘34111:1—. SRERIE
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Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence is known as :

qEAT W Ui ®me U uiwniue [gSeerdAr g Wi o "JgE E
Options :

Case series
. FA HA=

Cohort

2_VH§|?

Case control
3 % FA T

Experimental

4, % TS
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Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AT T T OEFTT O, I0ReTAT O & ATHATOT FIAT £ ¢

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

Statement of objectives

. T B FEA

Collection or data
TAT B/ Hhaad

Analysis of data
T=AT B ST

Selection of research tools
AFHAAE A BT =TI
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Question Label : Multiple Choice Question

Which of the following features are considered as critical in qualitative research ?

frfatae O & ®-91 fGseer qomn® sig % fn mERyel Ol Eer
=



Options :

Collecting data with the help of standardized research tools.
| % THIES ST WIEH T F AEAR F ATHST B OFIE

Design sampling with probability sample techniques.
o % MRS OIS S & TR AT Oiq=es g a5 e

Collecting data with bottom-up empirical evidence.
3 o DEAH AEAEE A T TAT T AHST B AT

Gathering data with top-down schematic evidence.
4% sME-TT= AR d1591 & TART o ATHE] ® HA=9
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Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentified with Covid-19 positive. Calculate
the prevalence of Covid-19 per 1000 population.

OF 9TEY T 25000 FEEET O, 105 HIaE-19 FHATOE F g 38T U T
| o 1000 FAEEAT T7 BITE—19 FT ATTHAT F ITOET Y |

Options :

| % 52

) 4.2
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Question Label : Multiple Choice Question



The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

A ag A = miaes S AW AF & ATguet § e AT @ e
=HE F ADHT HE AT BU 0 qeT B OIET S

Export Earnings
Polished Diamond vs Gold Jewellery

7 polished gold
' diamond jewellery
T 669
. 595
[=]
&
% 500 | 486
: 409 | 06
T T -
5 300 '
2
100 r
| - i e
1990 1991 1992 1993 1994
Year —»

‘What was average em‘ning from gold jewalery over 1990 to 1994 7
1990 # 1994 T U7 AU T A O = 4 7

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

503.4 Million
|, 503.4 FOferr

501.6 Million
501.6 TORmE=

500 Million
3. 500 foferr

510 Million
510 fofer=
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Question Label : Multiple Choice Question



The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :
A ag A = miaes S AW AF & ATguet § e AT @ e
=HE F ADHT HE AT BU 0 qeT B OIET S
Export Earnings
Polished Diamond vs Gold Jewellery

gold
Jjewellery

'''' 7 polished
diamond

TN '."12‘:'
505
Q L g
g
% 500 | 486
g 409 406
= - =
& &=
a 300 +
o -
- =
100

| e ol
1990 1991 1992 1993
Year —»

In which vear the difference of export earning of two types of jewellery is maximum 7
FFe a9 O S e & M O w7 AT SAdadan o o?

Options :
| 1994

5 % 1993

3 % 1991

4 % 1992
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Question Label : Multiple Choice Question
Directions : Study the following table and answer the question given :
Production of different types of scooters in a company
fesr - Te=ifariiga afasr & 9IS HY A Al I A8 #7 O3EE S
OF FIE1 O i 9T & THeT B e

Figures in '000
Year Type of scooters
A B & D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 | 48
1994 1 135 | 30 | 44 | 95 85
1995 | 190 [ 85 69 | 125 | 115
1996 | 260 | 95 [ 120 | 80 | 120
1997 | 240 | 140 | 161 | 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the years ?

1995 T A-TEU & EHEedl F OIS B OAGONAS OO TEE e 3o
ERELEINCINN

Options :

20
1. %
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Question Label : Multiple Choice Question

For any two jointly distributed random variables X and Y, whicl
following is true in connection to the following result

EIX+Y|["£tiE|X["+E[Y "]

Options :
£o=gtt =l
= 1 , =zl
1. %
L. =", BXl
= | 4 w=l
2. %
= 1 3 A=l
=21 yx>1
3. %
t,= 1 ; usl
= i 8 |
4.9
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Question Label : Multiple Choice Question

Which one of the following is always true?

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

X K e d— T 3K

X —3X=% —* s¥X lovdilre N

2
3

X, —2 > X = X, —— X but its converse is true for some r € N if
a.s. bounded

4

X, —2 35X = X, — > X but its converse is true for all r € N if
a.s. bounded
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Question Label : Multiple Choice Question

If X, —— X, then

Options :

X, ——=—X for all s<0
X, ———X for all s<0
X, ——— X for all s>0

None of the above is true
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Question Label : Multiple Choice Question



Let (X n) be a sequence of random variables having the following prc

PX, =n)=ir, P(X, :O)=1—er0raﬂne N
n n

where r is any natural number. Then

Options :

X, —— X and X, —— X, where P(X =0)=1

1. %

X, —=— X does not hold and X, —— X, where P(X =n)=1

3.9

X, —~— X does not hold and X, —%— X, where P(X =0)=1

X, —— X and X, ——> X, where P(X =n)=1

Question Number : 45 Question Id : 50939818667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If F, (x) be the distribution function of the largest order statist
random sample Y;,Y,,---, Y, of size n from U|[O, 0] distribution, t

Options :
1. ®

(F,) converges in law to F, where F is cumulative distribution
(c.d.f.) of a degenerated Random Variable (RV) degenerating at O

2.9

(F,) converges in law to F, where F is c.d.f. of a degener
degenerating at 6

3%

(F,) converges in law to F, where F is c.d.f. of a degener

degenerating at )

(F,,) does not converges in law to any c.d.f. F

4. %
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Question Label : Multiple Choice Question

Let X, X,,---, X, be a random sample of size n from a unifor:
U(0,1). If X, denotes the rth order statistics, then E(X|,)) is

Options :

r
IL—F

1. %
n—r
n—-r+1

"
n+1

7
n+r+1
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Question Label : Multiple Choice Question

If X is a Poisson variate such that P(X =2)=9P (X =4)+90P
which of the following is correct?

Options :

Mean = 3, coefficient of skewness =1-5

,» Mean =1, coefficient of skewness =1

- Mean =4, coefficient of skewness =-1

3. %

Mean = 2, coefficient of skewness =95

4. %
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Question Label : Multiple Choice Question



Statements [ and II are based on two identically and independent]
random variables X and Y from U (-a, o).

Statement-I : X +Y has triangular distribution i.e., Trg (-2a, 20 )
origin.
Statement-II : X —Y has triangular distribution i.e., Trg (—2a, 20 )
origin.

Options :

Statement—I is only true

1. %

| Both statements are true

2.9

~Statement—II is only true

3. %

Both statements are false
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Question Label : Multiple Choice Question

Let a random variable X has standard Cauchy distribution. The d
g(X)=X?is
Options :

L 9(X)~ N(01)

g(X)-~ beta (2,2)

2. %

g(X)~exp(1)

g(X)ﬁ"théa%)

4.¥
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Question Label : Multiple Choice Question

Let X, and X, are the two independent Cauchy variates with parar
and (o ,, p,) respectively. The distribution of X; + X, is

Options :

Cauchy variate with parameters (o; +o,,3; +P5)

1.+



Cauchy variate with parameters (o,,[; +B,)

2.%

Cauchy variate with parameters (o; +o,,B5)

3%

Cauchy variate with parameters (o; —a,, )

4. %
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Question Label : Multiple Choice Question

A particle starts a random movement from origin. Let p is prot
moving a unit step to the right and g is the probability of its movir.
to the left such that p + g =1. Assuming independent movements, t
variance of the distance moved from origin after n steps are

Options :

n(p-q), 4npq

1.

n(qg-p), 4npq

2. %

Jip-g] 4

_np, npq

4,
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Question Label : Multiple Choice Question

Consider a random process X (t) defined as X (t) = A cos (ot) + B si
o is a constant and A and B are random variables, which of the f
condition for its stationary?

Options :

E(A)=0, E(B)=0

. E(AB)=0
E(A)%0, E(B)%0

3%

.. A and B should be independent
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Question Label : Multiple Choice Question

For an ergodic process

Options :

mean is necessarily zero

mean square value is infinity

all time averages are zero

3. %

, mean square value is independent of sine

4. %
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Question Label : Multiple Choice Question

Which of the following is not correct?

Options :

~An absorbing state is recurrent

1. %

. An ergodic state is recurrent

2.

. Recurrent state is periodic

- An absorbing state is a periodic

4. %
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Question Label : Multiple Choice Question



Let { X, } be a Markov chain with state space S={0,1,---} a1
probabilities P;. Let f ign) be the probability that the first return

after n steps. Let following codes apply to each statement :
i. 1 is accessible from j
ii. 1 1is a transient state
iii. 1 is a recurrent state

iv. i is a positive recurrent state

Which of the above statement(s) satisfy Z:::o P! = and Z::O

1

Options :

. 1and iv
,» 1 and iii

iii only

3%

iii and iv

4.9

Question Number : 56 Question Id : 50939818678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The payoff value for which each player in a game always selec
strategy is called the

Options :

equilibrium point only

1. %

. saddle point only

~dominant point only

3%

either equilibrium or saddle point

4.
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If small orders are placed frequently (rather than placing
infrequently), then total inventory cost is

Options :

. increased
1.

~ decreased

2. %

.. minimized

either increased or decreased

4.
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Question Label : Multiple Choice Question

If an optimal order size Q" is calculated, but is found to be of an i
size, would the total cost per unit time

Options :

_ rise quickly around Q

rise slowly around Q°

2.9

_ fall quickly around gy

3.

fall slowly around Q°

4. %

Question Number : 59 Question Id : 50939818681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Customer behavior in which he moves from one queue to another
channel situation is called

Options :

~ balking

L.

reneging

2. %

jockeying

3.9



alternating
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Question Label : Multiple Choice Question

The calculation of opportunity cost in MODI method (to solve tr
problem) is analogous to

Options :
1. %

Z ; —C; value for non-basic variable columns in the simplex met

_. value of a variable in Xy column of the simplex method

3. %

Z ; - C; value for basic variable columns in the simplex method

value of a variable in B-column of the simplex method
4, %
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Question Label : Multiple Choice Question

Migration propensity is not associated with
Options :
- geographical

1.

.. social
. psychological

biological

4.
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Question Label : Multiple Choice Question

Which of the following is not studied under the topic of mortalit

Options :

. Infant deaths



| Abortion

2.9

- Mortality differentials

3.

Mortality trends
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Question Label : Multiple Choice Question

The crude death rate is called crude because
Options :

the risk set it uses in the denominator is not homogeneous

1.

it ignores causes of death

2. %

- it can be calculated only in census years

it is seldom used in developed countries

4. %
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Question Label : Multiple Choice Question

Which of the following is not among the most important proximate c
of fertility identified by Bongaarts?

Note: For this question, discrepancy is found in question/answer. Full Marks is
being awarded to all candidates.

Options :

Time between marriage and menopause
1.

Contraception
2.

Abortion

3

Breastfeeding
4.
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Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Moving back and forth between a primary and a secondary residenc

Options :

~ local move

1. #

- circulatory mobility

~social mobility

3%

mover-stayer cycle

4. %
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Question Label : Multiple Choice Question

In post-stratified random sampling, population stratum size Ni,

Options :

known
1.9

unknown
2. %

random variable

3. %

fixed
4. %
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Question Label : Multiple Choice Question

The ratio estimator is BLUE for population mean, if

Options :

, Var (Y; | X;) = C log ( Xj)

1.

Var (Y; | X;) = C X

E(Y;)=CY,

3. %



Var (Y; | X;)=C X;

4.9
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Question Label : Multiple Choice Question

The expected number of draws required to draw one unit by Lahiri’s

Options :

 X/M

L.

L M/X

X
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Question Label : Multiple Choice Question

The main drawback of the estimate of the variance of the Horvit
estimator, when all y; /n; are same, is that it does not reduces t1

Options :

1

1. #

v 0

8

N
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Question Label : Multiple Choice Question

Difference between the sample survey estimate and the parametr
being estimated is termed as

Options :

) sampling error



., non-sampling error

measurement error

3. %

__ total error

4. %
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Question Label : Multiple Choice Question

Under which of the following reliability operation, the class of Incre:
Rate Average (IFRA) distributions is closed?

Options :

~Addition of life length

1. %

Mixture of distributions

Formation of coherent systems

3.

Multivariate distributions

4. %
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Question Label : Multiple Choice Question

The lifetime ( X ) of a certain unit follows exponential distribution w
0. In a life-testing experiment, n such units were put to test and
terminated after observing first r failures x;) < x5, < --- < x,,,. The
is

Options :



1 r
;(Zle Xi) —(n-r) x{r))
3. %

1

;ZL X(i)

4. %
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Question Label : Multiple Choice Question

The Total Time on Test (TTT) plot of a bath-tub shaped failure rate
is
Options :

convex

concave

initially concave then convex

initially convex then concave

4.9
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Question Label : Multiple Choice Question

Consider that F;, and F, are increasing failure rate distributions.
convolution of F;, and F,. Then F has

Options :

, increasing failure rate

~decreasing failure rate

2. %

decreasing failure rate average
3. %

increasing failure rate average
4, %
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Question Label : Multiple Choice Question

In RBD with 4 blocks and 5 treatments having one missing ¥
missing plot technique analysis the error degrees of freedom wil

Options :

12

L.

11

2.
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Question Label : Multiple Choice Question

With usual notations the formula for calculating one missing ok
LSD having order m is

Options :

R +C+ T)—28
(m-1)(m-2)

(R4+C + 1] —28
(m—1){(m —2)

(R+C+T)-2S
i ~1) [ —2)

3.

(R+-C+T)=25

(m-1)°
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Question Label : Multiple Choice Question



On the basis of statements given below, choose the correct alter

A. the BIB design may be called a PBIB design with one associ

m?

B. the parameters b, K v, 1, ko= b s

parameters of first kind of PBIBD

iy Py =5 My  ATE VS

C. there are only m(m? — 1)/6 independent parameters of the sec
PBIBD

D (1 2 8
4 S

result is a three class association scheme with n;, =2, n, =1

the association scheme with 6 symbols, we easily ve

Options :

A and B are true

1. %

A, B and C are true

2.8

A, B, C and D are true

3.9

A, B and D are true

4. %
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Question Label : Multiple Choice Question

If k independent effects are confounded in a 2" factorial experime:
blocks of size 2"~ " units, the number of automatically confound

Options :

ok _k

K —k —1

o9k _%&—1

3.9

k-1

4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In 3°-factorial experiments the effects are
Options :

~ linear only
1. % -

quadratic only
2. %

linear and quadratic both

3.9

- Neither linear nor quadratic

4. %

Question Number : 80 Question Id : 50939818702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is true for BIBD ? Here notations have their usual n

Options :

b< v
1. %

b>v

2.9

(h=1)v=r(k-1)

3.%

dw=r{k-1)

4,
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Question Label : Multiple Choice Question

ANCOVA is

Note: For this question, discrepancy is found in question/answer. Full Marks is

being awarded to all candidates.
Options :

combination of ANOVA and regression

, only regression

only ANOVA

3.



Neither ANOVA nor regression

4
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Question Label : Multiple Choice Question

In a split plot design, smaller error mean square is obtained for
Options :

main plot error

1. %

sub-plot error

2.9

experimental error

main plot error and experimental error
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Question Label : Multiple Choice Question

For linear model E (Y ) = XP, the least square estimator for § with it
matrix is given by

Options :

(X' XY XY amd o (X XT

1.

XV (X X)" and 6*(X°X)

2.

(X"X) XY and (X' XY

3. %

XT(X X) " and (XX

4. %
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Question Label : Multiple Choice Question



The minimum sum of squares Rg = (Y = XB ) (Y — Xé) SO an unbias
of 67 is

Here r = Rank (X ) and other notations have their usual meanin

Options :

Rg

G e L~ .
- n-—r
2
8_2 e Ro
- n+r
2
i Ro
(n—=r)(n+r)
3. %
n+r
02 = 5
R
4, 0
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Question Label : Multiple Choice Question

Let C be a g-inverse of X'X and let H = CX'X. Then a necessary a
condition that PB is estimable is that

Options :

_P'(I+H)=0

_P'(I-H)=0

2.

_P'(I-2H)=0

3.

P'(I+2H)=0

4. %
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Question Label : Multiple Choice Question



W
\\

For a given matrix A= , if g-inverse of A is givel

e
£ = ek
L)

I\
\®

0]
O |, then the value of ABA will be

oy

I
===
o ~ O

L]~

Options :

L.
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Question Label : Multiple Choice Question

Which of the following is not a contrast among three treatments cor

Options :

) Tl N T3

1.

B B, T,

2.

3.
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Question Label : Multiple Choice Question

100 (1 —a )% confidence interval of the slope 3; in simple regression

Options :



Q

Bl_ta QSE(BJSB] §é1+t . SE(EJ

-, n—

10 |

AN

Bi-t o SE(B)<P <P+t .  SE(B)

1-— n-2 —n-2
2 2

Bi=t,  SE(B)<P <P+t _ SE(B))
2,

El_ta : SE (Bl) <pB; = El']_ t SE ([31)

s |

Q

n

2

10 |
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Question Label : Multiple Choice Question

Let u be the utility defined on the set of prospects P which
preference pattern <. Then which of the following statements is

Options :

., uis typically bounded

u also agrees with preference pattern <

2. %

u is unique up to linear transformation

3. %

u is usually convex

4.9
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Question Label : Multiple Choice Question



A decision problem aims to choose an optimum decision amoi
decisions A ={ a,;, a,, a;} under states of nature ® ={0,,0,, 05}. Lot

0, 6, 05
a; 4 1 -3
a, 3 2 O
a; O 1 6

The prior probabilities are n (6,)=n(6,)=n(0;)=1/3. Then the 1
Bayes decisions respectively are

Options :

a, and a,
1.¢

a, and a,
2. %

a, and a,

3. %

a, and a,

4,
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Question Label : Multiple Choice Question

For the loss matrix associated with a decision problem

Define randomized rule ¢, = pa, + (1 - p) a,. The minimax decisi

Options :



0y

4.%
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Question Label : Multiple Choice Question

Which of the following is not a part of Bayesian estimation?

Options :

~, Prior distribution

, « Likelihood

- Loss function

3%

Sampling distribution

4.9
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Question Label : Multiple Choice Question

If prior distribution and posterior distribution of a parameter bel
family of distribution, then the prior distribution is named as

Options :

conjugate prior

1. ¢

Jeftfrey prior

2.

_uniform prior
3. %

informative prior

4. %
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Question Label : Multiple Choice Question

To measure the dissimilarity between two groups, the complete
uses

Options :

- the mean-based distance

1. %



the nearest neighbour distance

the farthest neighbour distance

3.9

the average neighbour distance

4. %
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Question Label : Multiple Choice Question

A test is said to be the most powerful test of size o if

Options :
1. %

among all other tests of size a or greater, it has the largest 8

2. %
among all other tests of size o or less, it has the largest power

3.%

among all other tests of size o or greater, it has the largest 1 —a

4.%

among all other tests of size a or greater, it has the smallest po
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Question Label : Multiple Choice Question

Let p be the probability that a coin will fall head in a single toss in
the hypothesis H,: p =+ against H,: p =<. A coin is tossed 5 tim
rejected if more than three heads are obtained. The probability of ty

Options :

3/16
1.

47/128

2.

81/128

3.9

13/16

4,
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Question Label : Multiple Choice Question

If X;, X,,---, X,, 1s a random sample from normal population
statistic

n
2

1

1
— X
ntzl

1s an unbiased estimator of

Options :

(n+1)°
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Question Label : Multiple Choice Question

Suppose a random variable X follows normal distribution with
variance unity and let the prior for 6 be standard normal distribu
the Bayes estimator of 8 under squared error loss function whe

sample x,;, x,, ---, x,, from the considered population is drawn and T

Options :

L T/n
» Tfin+1)
Al fin+1)

(T # 1) /(7+22)

4. %
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Question Label : Multiple Choice Question

For testing simple versus simple hypothesis

Options :
1.«

Bayes factor becomes a measure of relative support provided exclu
the data

Bayes factor becomes a measure of relative support provided exclu
the prior

3.%

Bayes factor becomes a measure of relative support provided by b
and prior

~Bayes factor does not exist for such problems

4. %

Question Number : 100 Question Id : 50939818722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is correct?

Options :
1.

Bayes rule corresponding to a least favorable prior distribution is m

2. %

Bayes rule is always minimax for the squared error loss functior

3%

Posterior mode can be obtained as a Bayes point estimator when
function is linear.

4, %
The conjugate prior for the Gamma shape parameter when t
parameter is unity is Gamma itself.



